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QUESTION 1

You are adding 1400 users to an existing Avaya Aura communication core- The customer wants the same services for
alt users, but with this expansion there Is not enough bandwidth for audio and video calls for all.

If the bandwidth parameter Is set lower than the minimum video requirement, what will happen to users Initiating audio
and video calls?

A. Audio calls will connect but video calls will not initiate.

B. Audio and video calls will connect for some users.

C. Audio and video calls will connect for all users.

D. Audio calls will connect and video calls will connect as audio calls.

Correct Answer: B

QUESTION 2

In an Avaya Aura 8.1 deployment, where do Remote SIP Workers ultimately register?
A. Session Manager

B. Communication Manager

C. Avaya Device Adapter

D. System Manager

Correct Answer: C

QUESTION 3

The account team is concerned about limitations associated with analog licenses that you have included in your solution
design.

Which two characteristics of analog licenses would you share with the account team? (Choose two.)

A. Itis possible to uplift an analog license to a Core suite license.

B. Analog users will get all benefits of a Core license user; the only difference Is the device.

C. Analog license users can coexist in the same Communication Manager with Mobility and Collaboration users.
D. The percentage of analog licenses, within a solution, cannot exceed 60% of the total number of licenses.

Correct Answer: AC
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QUESTION 4

A customer has 80 remote users, and you expect 25% of the users will be connected at any one time using G.729.
Assuming the following requirements:

a G.729 codec requires 30 kbps a G711 codec requires 80 kbps 720p HD video codec requires 512 Kbps

How much bandwidth is needed for a public interface WAN link of the centralized SBCE for the deskphones used by
remote workers?

A. 6400 Kbps
B. 2400 Kbps
C. 1600 Kbps
D. 600 Kbps

Correct Answer: A

QUESTION 5

One of the requirements of a proposal you are working on, is the ability to query an Active Directory database for
contact Information from the customer\\'s Avaya 96XX SIP Phones.

To support this functionality, which component must be included in your solution?
A. Avaya Aura Devices Services

B. Communication Manager

C. ADHCP server

D. System Manager

Correct Answer: D
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